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(1) 1t ­ jIi jf*4-J~ ~ ~ ttB~ , T 7'Hor*- Jt~iE1t? (77}) 

a. ifJ~tt b. ~tt c. tf1.n:tt d. ~~tt e. ~~1~tt 

(2)1t-jIijf*4~1t~'~-~f*~~tt 'T7'Hor*~1t~~? (77}) 

a. ifJ~tt b. ~tt c. tf1.n:tt d. ~~tt e. tf~1~tt f. ~jE g. t.ALtf~f 

(3) 1t ­ jIi jf*4~.r,t.£l' )j--[§E ' T 7'j1OJ*- JtiEhj? (77}) 

a. ifJ~tt/J"~~tt b. ifJ~tt;k~~tt c. tf 1.n:tt/J"jj~4ttt d. tf 1.n:tt;k~4ttt 

e. ifJ~tt/j,,~tf1.n:tt f. ifJ~tt;k~tf1.n:tt g. t.AL tf~f 
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a. !l"a!l:f±JJIL.:=...::.x.~~ttf ' lIJJ~-.::.x.$:.JJt*l~tit? (57}) 

b. JJIL':="'::'X.~~~ tf ' lIJJ~-.::.x.~t~~tt;f£lt*l/J"? (57}) 

c. :f±~ -=-.::.x. ~~~ tf ' ~t7} JJIJ l-:A ~~,~i!- J'{lj a ~t f;c ~ 3t~ f. if... .fljl1f:1f ~ jJ A a~ ~~1r-jj~ l& Fa' 
(60, 80)~ Fa'? (10 )j--) 

3. -t~~:f~~ttx J\.:1fT 7'J~~1fi7}[§E: 

X 0 1 2 3 
fix) 1/2 1/4 1/8 1/8 

~ y = X2 + 2X+ 1 ' tt @] ~T 7'j ~M~: 
a. Y ~~1fi7}g§E~ttj(y)~1or? (10 7}) 

b. Y ~;ltA:£1t E(Y)~1or? (5 51-) 

c. y ~~~tt V(Y)~1or? (5 )j--) 

4. ~~Jt~i~f:.A. £ tf ~ ~1fi p it ~;t!i& 10%' +~~~i~A. £ tf f.it~~Th tit 100 1~A. £/Jo t.A~~ , 

-t~pJ!;~Thtita~ 100 1~A.Jla~~ ~1fi '1~%- p> 0.13 ~'J;fEJ@.JEt~1~1-t~Ho :p<O.l ; ~J'{lj , ~ 
;fE. ~@. JEt ~1¥1-t~ 0 

a. ~~>Jl~c~~JtfJLJ'{lj~~Jti-7j(.~ 0 (1051-) 

b. %-1t~L p = 0.15 ' ~~M ~G~Jta~~Jth (power)~ ~ jJ? (10 7}) 
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5. 	 In a completely randomized design, 12 observations were taken from the first treatment, 15 

observations from the second treatment, and 18 observations from the third treatment. A partial 

ANOVA table is show below: 

Variation Degrees offreedom Sum of squares Mean square F value 


Treatments (A) 210 (B) (C) 


Error (D) (E) 35 


Total (F) (G) 

a. 	 Find the values of (A), (B), (C), (D), (E), (F), and (G). (l4'7t) 

b. 	 Test at the 5% significance level to determine if differences exist among the three treatment 

means. (5 ~) 

(F 0.05(2,42)= 3.23, F 0.05(3,41)= 2.84 ) 
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